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FRDVANCED DATRSSTRUCTURES AND ALGORITHMY® H5

(Computer Science)
HS H5 H5 HS  Mm&R Marks=80

This ti8estion pAtfer contalt? two paft® A and B1S H5 H5 H5
Part A is compulsory which carries 20 marks. Answer all questions in Part A.

Part Boconsiststf 5 Unitsi®Answertéhy one Ml questiditPfrom eddh unit. Etch
question carries 8 marks and may have a, b, ¢ as sub questions.

H5 H5 H5 H5 H5 H5 H5 H5
PART - A

H5 H5 H5 H5 H5 H5 5 x#Hmarks 520
Define data structure. Explain briefly about linear and non linear data structures.
Writdlabout statls and que@es in javdautil.  HS HS H5 HS
Mention the usage of HashMap, HashSet, Hashtable of java.util package.
Writdigbout diffépent graptirepresentttions.  HS H5 HS HS
Define AVL tree and Red-Black tree. Give an example for each.

H5 H5 H5 H5 H5 H5 H5 H5

H5 H5 H5 PAR - B H5 H5 H5 H5

5 x 8 marks = 40

H5 H5 H5 H5 H5 H5 H5 H5
Write a java program to implement linear list ADT.

H5 H5 H5 GR H5 H5 H5 H5
Write an algorithm to implement operations on a circular list.

H5 H5 H5 H5 H5 H5 H5 H5
Write an algorithm to convert infix expression to a postfix expression using stack.
Exechig your aligsrithm fanmn exampis. H5 H5 H5 H5

OR
Write4g java preggam to imlement priority quewse ADT. H5 H5 H5
Writg4g prograrpito implemsgnt heap sgit. H5 H5 H5 H5
OR

Explaig the sogténg algopithm thatpis used ipsthe cargygame. Dggive its tige
complexity.

H5 H5 H5 H5 H5 H5 H5 H5
Write Dijkstra’s algorithm. Explain with an example.
OR

Write a recursive java code for in order tree traversal.
Give a comparison on search trees. Explain their applications.

OR
Explain about text compression.
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